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B.Sc. (CBCS) DEGREE EXAMINATION
. Second Semester

Part-11: Computer Science

DATA STRUCTURES USING C
(Effective from 2020—-2021 admitted batch)

Time : Three hours Maximum : 75 marks

SECTION A — (5 x 3 = 15 marks)

1. . Answer the following.

(a) Write about the structured approach to
- programming.

Programming Do30&oeS® structured approach
1{3803)’;’)580@333

(b) Differentiate between data type and abstract
data type :

Abstract data type 208a5%>y data type o
é.)éﬁéifé) DFTIGRODIIDD DHBOHDO.
(©) Give overview of pointers.

Pointers 803 25803506.
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What are the applications of Stacks?
Explain.

Stacks © AW, e9§'§f.15t3 DAE3I? DDBoHD.

Differentiate between sequential search and
Indexed sequential search. ’

Sequential search 08050 Indexed sequential
search © 35 ST FH[0 BB
SECTION B — (5 x 12 = 60 marks)
Answer any FIVE questions.

All questions carry equal marks.

What is algorithm? What are the different
approaches to design an algorithm? Explain.

&)

Algorithm e0& d20e3? 2.8 algorithm &0
design D8 Ko DFTTHRVODN DDBoHIW.

Explain the terms complexity and Big ‘O’
notation. 4)

DoERS  DoBasw Big ‘O’ notation ©X0
25B0H[0.
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(b)

What is the difference between linked list

and an array? Explain with example.

Linked list 08d50 array o a’l)q% e

SFTTIDDR ETTE0E” DBBoHBD.

How binary search is different from linear
search? Explain.

linear search ¥6&5 binary search 2 &S00
DDODE" DDBoHIW.

What are- doubly linked lists? ‘Explajn thAe
operations of doubly linked lists.

Doubly linked lists e0& 220632 doubly
linked lists © 55& 28R operations [50/0809

DDBoHDw.

Explain about circular linked list with
example.

Circular linked list 50 70809 &T-FSmes”
DBBoHD00.
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Differentiate between stacks and queues

with examples.

Stacks.mao‘in queue © DO DITFODIIDD

STTER08° DI80HD.

What is priority "queue? Explain with

example.

Priority queue 083 DDoeS® &EorTrSsesSt

DDBoHDw.

What is the degree of a node in a tree?
Explain In and Out degree of a tree.

2.5 tree &° degree of a node @0&3 dDoe3? tree
©c5* In 0850 Out degree o X809

DNBoHDN.
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Define binary tree. How it 1s represented in

memory?

Binary tree 0 J8$D000D0. DOBAXL binary

tree X memory &° e represent DG

DIBoHD.

How does Bubble sort works? Explain with
example.

Bubble sort Qe 39 3‘{)_.)9055 DIBoJPHDL SRS

éa‘rréeaeﬁféné.

Explain the merge sort technique with

suitable example.

BRD ETTEHoS" merge sort ;‘Sg@ﬁ)

D5805B00.
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What 1is graph? . Explain the sequential‘

_ representation of graphs.

Graph ©08& d20¢37? sequential representation

of graphs K809 DH5Bo0Boék.

Explain in detail about spanning trees.

Spanning trees ©. 80D DD

| DS5BoHDo.
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